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RFNKEB 0 FEARER (RSHRIE)
BERUENEXRB(RFHID

o ERREEREME (1 Sv/h)
AEBmS -
BITEHL R (RAR) na )
No. | THETH | E£ BAIBORT R BEAR | 50cm SHR (FRRUAR) & T il mEg | ELAEOAR %
EER - -
or Ol o ol el e |26|Ek |8 nae
m | @ THiE | FyE) | TRE | R
50cm 0.12 0.12
e (TR
1m 0.11 0.12
50cm 0.10 0.11
B (SR B
1m 0.10 0.12
84 ENIF BR |Z2FvE 8A19H
50cm 0.10 0.11
EETEE
1m 0.10 0.10
50cm 0.13 0.12 0.13 0.12 0.13 0.13 0.14
Er i
1m 0.13 0.12 0.13 0.11 0.12 0.12 0.14
50cm 0.09 0.10
CALOE ()
1m 0.09 0.10
50cm 0.11 0.11
CALOE (D)
1m 0.11 0.11
85 E)IF BEOER [EOER f=Fhb 8208
50cm 0.12 0.12 0.10 0.11 0.12 0.11 0.12
EEEIS (RIfRI)
1m 0.12 0.12 0.10 0.11 0.11 0.11 0.13
50cm 0.10 0.09 0.10 0.10 0.11 0.10
EEI5 (AL B)
1m 0.10 0.09 0.09 0.11 0.10 0.10
50cm 0.11 0.13
86 ENH | BRI | EN5DEEME ENSBEELE 8A198
1m 0.12 0.11
50cm 0.08 0.09
=
1m 0.08 0.09
50cm 0.10 0.11 0.12 0.12 0.11 0.11 0.12
F1EES
1m 0.10 0.11 0.12 0.11 0.11 0.11 0.13
50cm 0.11 0.11 0.12 0.11 0.11 0.11 0.12
F2EEg
1m 0.10 0.11 0.12 0.10 0.11 0.11 0.12
50cm 0.11 0.12 0.11 0.11 0.12 0.11 0.12
87 E)NF BR |ROMR—It=Fnh | N\REEES 8A19H
1m 0.10 0.11 0.10 0.12 0.11 0.11 0.12
50cm 0.11 0.11 0.13 0.11 0.09 0.11 0.11
$oEEIS
1m 0.11 0.11 0.12 0.12 0.09 0.11 0.11
50cm 0.13 0.10 0.11 0.12 0.18 0.13 0.15
FaREIS
1m 0.11 0.11 0.11 0.11 0.16 0.12 0.14
50cm 0.12 0.11 0.12 0.13 0.17 0.13 0.15
$55ES
1m 0.11 0.12 0.11 0.12 0.17 0.13 0.15
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